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PART -1

General Mental Eligibility

Which mathematical symbol can be
used to make this equation equal to 10?

50+l50+%+20x100—10=10

A. x means =+, + means —
+ means x, —means +

B. x means—, + means +
+ means +, — means x

C. x means +, + means —
+ means =+, —means x

D. x means +, + means —
+ means x, —means +

Two different positions of a dice are
shown below. Which digit is on the
opposite of the face on which '1" is
written?

4 5

2
1 > 4

Co0Owm>»
, R oW N

If 9x7=32,13x7 =120 and
17x9 =208 then 19x11 will be-

A. 64
B. 160
C. 240
D. 210

HTHTT AR JEdaT

forer Trftrefter forme o1 ST o & geteRtor
10 3 SIS ERTT?

50+150+%+20><100—1O =10

A. x means <+, + means —
+ means x, —means +

B. x means —, + means +
+ means +, — means x

C. x means +, + means —
+ means =+, —means x

D. x means +, + means —
+ means x , —means -+

o T forr ° wh uT® I 3 AT AT
Roafaai A8 1" & i gag W
ieh ot T 82
4 5
1 4

C0Ow>
, A W N

IR 9x7=32,13x7 =120 3K
17x9 =208 dsf 19x11 T 7 ST

A. 64
B. 160
C. 240
D. 210
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4. Find out the wrong term in the series. 4. {3 T T | Ted 4G i IgdH hifer|

17, 26, 38, 50, 65, 82, 101 17, 26, 38, 50, 65, 82, 101
A. 17 A 17
B. 38 B. 38
C. 65 C. 65
D. 101 D. 101
5. If 'O represents 'OFTEN' then which of 5. PR 'O''OFTEN' &I g31iar &, ar 'W' foher
the following words is represented by TR
'‘W'?
A. WATER A. WATER
B. WALK B. WALK
C. WISER C. WISER
D. WOMAN D. WOMAN
6. How many rectangles are there in this 6. o™y o o fora st &2
figure?
A 8 A. 8
B. 18 B. 18
C. 19 C. 19
D. 20 D. 20
7. Four words have been given in this 7. RAITI vy IR vee A TR B, Tk Yo
question. One is different from other 31 T e €, = wrse w1 AT
three. Choose the odd one. SR °
A. Dollar
A. Dollar
B. Yen B Yen
C. Ounce C. Ounce
D. Franc D. Franc
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10.

11.

Select the pair which resembles the
given set of numbers?
15,7,3)

A. (17,8,4)
B. (4,21

C. (19,9,4)
D. (2512,6)

Fill in the blank.

SYS 4Y4 3Y3
125 80 ?

3

6

9
45

OO0 w>»

There is a series of numbers, find out
which one of these answers would be
correct?

1,5, 4, 10,9, 15, 16, 20, --------

A. 27 B. 25

C. 23 D. 30

If E means 2, R means 5, T means 7,
D means 3, S means 4, | means 6, N
means 9 and letters will be written in

reverse order then, 'RESIDENT" will be
written as-

A. 79326425
B. 79236425
C. 52463927
D. 54263927

10.

11.

3G SIS o1 =3 IS ST 53 719 B2 o A
% FH 87

15,7,3)

A. (17,8,4)

B. (4,20

C. (19,9,4)
D. (25,12,6)

Tk T vl

SYS 4Y4 3Y3
125 80 ?

3

6

9
45

o w>

e T3 =il <l sErett 8 i 9T e Se e
22

1,5,4,10,9, 15, 16, 20, --------

A. 27 B 25

C. 23 D. 30

JREER 2, R 5, TH 7, DRI 3, SHI 4,
[ =T 6 3T N =T 9 & ST ST 3T 378
! 3e¢ 3hH H foT@T ST, a7 '"RESIDENT!
1 hd forar s

A. 79326425
B. 79236425
C. 52463927
D. 54263927
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12.  Choose correct answer. 12, w&t s

15x16x18 =679 15x16x18 =679
34x23x33=756 34x23x33=756
then 18x26x42="7 dd 18x26x42="?
A. 896 A. 896
B. 886 B. 886
C. 986 C. 986
D. 698 D. 698
13. |5 px+6 —8%*1 the value of x is- 13. yq px+6 — g%l 2rarx wrAE A-
A. g A 9
2 2
B. § B. 5
2 2
C. Z C. 7
2 2
D. 3 D. 3
2 2
14.  How many triangles are hidden in the 14, {2 o ot o ot oo fosd &2

figure given below?

A 38 A. 38
B. 40 B. 40
C. 41 C. 41
D. 46 D. 46

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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15. Six faces of a dice are shown in the 15. {3 3 forsr o Woh U9 SRl ©: Hele a9l S B

given figure. You have to find out that TO 31T I T T &7 b 82
which dice may be made from the given
figure? 2
2 1
1 5 | 4
5 4 6 3
6 [ 3
A.
A 3 > 1
1 6
6
B : B. 5
4
4 6
° |/
c. /3 C /2 /
4
6|/ 6
D 3 D 3
4
1 1 4
16. 'pit nac tom' means 'orange is yellow', 16. 'pit nac tom' T 37 'orange is yellow' g,
'nac ho tap' means 'Green and yellow' 'nac ho tap' T 318 ' Green and yellow' &
and ‘ho Fom kel means T.omato 's Green 'ho tom ka' T 37 'Tomato is Green' &, I
then which of the following words . }
stands for ‘orange'? ¥ T H 'orange' BT HIch{ch hre T
(')
A. pit &
B. nac A pit
B. nac
C. ho C. ho
D. tom D. tom

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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17.

18.

19.

If a:b=5:6 and b:c=6:15 then a:c
equal to-

A. 1:15
B. 1:3
C. 15

D. None of the above

One of the four groups of the given
numbers is different. Find out that
different number.

A. 3-81
B. 2-16
C. 7-343
D. 5-625

Four figures are given, choose the one
which is different from the remaining
three.

17.

18.

19.

It a:b=5:6 3 b:c=6:15T a:c
S

1:15

1:3

1:5

UL | oIS el

o o w >

e TR e o <R WE H § U ST,
T o T AT TS|

A. 3-81

B. 2-16
C. 7-343
D. 5-625

&2 T SR SATeR{oR § T STeR(d T |
firer & firer smrepfr 7

'
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20. If'POCKET' is coded as 'KKZIDT' then 20. 3fe 'POCKET' sl 'KKZIDT' forar Sirar @

'JOCKER' will be coded as- ' JOCKER' & forar s
A. EKZIDR A EKZIDR
B. FKZIDR B. FKZIDR
C. AKZIDR C. AKZIDR
D. DKZIDR D. DKZIDR
21. Which one of the following figure 21, geferg o T W 9 i € SRt
should be in place of question mark? B =R
/\:AN/ }”’ /\:A“/ }:’-’
A A

/N /N

C X Y
22. Fill in the blank. 22, fieh T wi@

2A7 2AA7
>?<56>§ >)<562g
\/

4

A. 8 A. 8
B. 21 B. 21
C. 32 C. 32
D. 64 D. 64

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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23. A means greater than, 23. gwAdTEr

B means equal to, B &1 37 e
C means not less than, C 1 A9 BT 7t
D means less than, D &1 37 BIeT
E means not equal to, E 7 379 sw7ee 7t
F means not greater than, Far e ger 78
If, R
(@A 2b) and (2b Cr) then, (a A 2b) 3R (2b C 1) 4,
A. aBr
A. aBr
B. aFr B. aFr
C. aAr C. aAr
D. aDr D. aDr
24.  The spelling of the words 'FILE' and 24. {33 T v1sel 'FILE' 3R 'THEDA' %1 5hW
‘THEDA' are not in order. If they are Ao T8l €, 3R 3 ogarYd R s,
re-arrange:d, we get two Wgrds WhI.Ch 1 31 3153 TR T Toh-aE 3 el 3
are opposite to each other in meaning. ) ) S )
What are the last letters of those two et srafeerd STaat o SATRerT s7et a1 &7
2
rearranged words” A FF
A FF
B. E/H
B. EH
C. LH c. LH
D. L,D D. LD
25. Fill in the blank space. 25. ik T o1 fd i)
59 84 101 59 84 101
75 ? 139 75 ? 139
A. T2 A. 72
B. 91 B. 91
C. 104 C. 104
D. 128 D. 128

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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26.  In the following question, there are three 26. fod T a1 H, T 9 o SRl T AR

circles with four numbers outside them, For &2 T §; o &Y 3T o STel Jey
while in the fII’S.t two c!rcles a numper A T &, e g i

has been filled in the circles according N ! ¢

to a rule, in the third circle the mark (?) fFereg fom e €, ferm <6 S7gem e
is given. Which one of the four answers g o T W I |7 ST SR

would occupy (?) according to that rule?

16 4 64
16 4 64
9 36 4 4 49 81
9 36 4 4 49 81
25 4
25 4

100
100

A 44 A 44

B. 54 B. 54

C. 64 C. 64

D. 34 D. 34

27. Fill up the blank space- 27. Tk T o1 fd hi-
LS 25 2 75 25 ?
314 617 9111 3|4 6|7 9 (11

A. 199 A. 199

B. 398 B. 398

C. 606 C. 606

D. 891 D. 891

28. If sum of A and B equals 116. A is 3 28. ATGBHAMTII6E, A, CAIFAIBH4

less than C, but 4 more than B. What SATET &, C T A 14 shitor-
number does C equals?

A. 61 A. 61

B. 63 B. 63

C. 59 C. 59

D. 60 D. 60

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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29. 12:35::16:°?
A.

B. 63

C.

D. 45

32

49

30 J2a+4216

Co w »

Jo6
2\/6

29. 12:35::16:7?
A.

30.

J24 + 216

NEmTNEY 9

O O0Ow

oo w >

32
63
49
45

J96
2.6
62

2
2
J6

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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31.

32.

33.

PART - 11

General Knowledge

Material used for electric fuse is an
alloy of tin and lead. The alloy should
have:

A. High resistance and low melting
point

B. Low resistance and high melting
point

C. Low resistance and low melting
point

D. High resistance and high melting
point

Who said Emergency (1975-77) is
'‘Anushasan Parv'?

A. Jagjeevan Ram
B. Vinoba Bhave
C. Deokant Barua

D. V. C. Shukla

"VYOMMITRA" Indian Robot was
developed by-

A. C-DAC PUNE
B. ISRO
C. TIFR
D

. DRDO

31.

32.

33.

A AT

ferggel WSt © 121 Wel oig o Ty T skt ST

BT 2 | Torer g o1 S =nfe:
A. 3= Iy T e TTeieh
B. = ity wa 3= o
C. et ot ug foe Treien

D. 3= 9faUy Ud 3= TTeieh

AR (1975-77) 2l ‘ST T
EREETIN

A. ST T
B. fodiem v
C. T a&TT

D. =&, ®i. grerett

AT QIS " bl frenferd foram mam

o
A, HSFH T ET

B. 3EEW

C. FIEUHAR g
D. SRS

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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34.  The prime objective of a School Athletic 34.

program is-

A. To minimize Unhealthy
Competition

B. To encourage the physically weak
students

C. To develop School Spirit, Good
health, and Sports-manship in
Students

D. To provide the Vicarious
Satisfaction of the needs of the
Students

35. What is not correct? 35.

A. Viceroy was the representative of
British Crown in India

B. Governor General was the ruler of
India

C. One person was holding these two
offices

D. The offices of Governor-General
and Viceroy were held by two
persons

36.  Which age group has been distributed 36.

maximum percentage of vaccines up to
16" January 2022 in India?

A. Age 18-45 years
B. Age 46 to 60 years
C. Age above 60 years

D. Age 06 to 12 years

Ush Tl QUi (Eoh (SATITH) HIshH ol &
ST
A, ITEEE Hlaead s A i % g

B. HIfter €9 ¥ FHHSIK ST i TcdTied
0 o fou

C. BN H Thel HIEHT, 3o T, 3R
QA WIEHT 1 forehrar T

D. ST sl SRLal sht STaual #qfE e
& o fg

LRI E Y

A. T forfeeT ST o1 R | faff
grar o

B. TET STt ST ol ITTHe BT 9T

C. & Atk 3 QT UGT hi UT0T haaT T

D. T S 3 I8 o UeT ohl &l
ek 0T ohld &

W H 16 Siert 2022 o fore 311 i
! gey 31fersk gfdwra o depr (Vaccine) T
fereror femarm T &2

189 45 Iyt
46 9 60 AT
60 9§ FHUL Y
06 ¥ 12 ¥ 3 =t

c o w >

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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37.

38.

Consider following phenomena:
1) Photosynthesis

2) Respiration

3) Decay of organic matter

4) Volcanic action

Which of the above does not add carbon
dioxide to the carbon cycle on earth?

A. (1)and (2)
B. (3)and (4)
C. (1) only

D. (4)only

What is not correct about August Offer?

(i) It was declared by Governor
General of India

(if) It was declared on August 1940

(iii) It was said in declaration to
constitute a war advisory
committee

(iv) It was declared by Indian National
Congress in August 1942

(v) It was the beginning of Quit India
movement

A. (i) (i)
B. (ii) (iii)
C. (iii) (iv)
D. (iv) (v)

37.

38.

o et w fomm s

1) RTST HSHOT

2)

3) SHIefeh el 1 &3

4) SarATE Tk

YU ° T forere qeaft ux o shTel =1k
IS ST SATFATSS T AT Tl BT &7
A (HTE(2)
B. 3)W(4)
C. &ad (1)
D. ad (4)

ITTE TS o forsar  orm a1t &2

(i) IIE VT o T ST gRT NN foram
TR o

(i) ITE ST 1940 T =S foham T o

(ifi) T SISO ¥ e ARSI |HiT
T T =T et TS off

(iv) T IRAT T e gRT 3T
1942 ¥ =Ny foram o

(v) I8 YId SISl ATl Eﬁr-‘g«wm off

A. (i) (ii)
B. (i) (iii)
C. (iii) (iv)
D

. (1v) (v)

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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39.

40.

41.

42.

Christmas is celebrated in Summer 39.

Season in-

1) New Zealand

2) Argentina

3) Uruguay

4) Japan

Statement 1 is correct
Statements 1, 2 and 3 are correct

All Statements correct

Cow>»

All statements are incorrect

The main purpose of extra-curricular 40.

activities is-

A. To keep pupils from dropping out
B. To prevent disciplinary problems
C. To provide a progressive school
D. To facilitate pupil's development

What percentage of expenditure is spent 41.

on "Education™ by the Government in
India (Centre & States) as per 2021-22
Budget Estimate?

A. 3.1 Percentage
B. 6.97 Percentage
C. 9.7 Percentage
D. 36.6 Percentage

By which name "Jal Jeevan Mission" 42.

(JIM) is popularised in rural India?
A. Har Ghar Jal

B. Ghar Ghar Jal

C. Nal Se Ghar Jal

D. Ghar Ghar Nal Jal

i =g & foremre ot 7&l AT ST 8-
1) =sfcivg

2) SFSIREAT

3) I

4) ST

A. U | w_l
B. % 1,2 313 @&

C. &t e wet

D. @l e TTerd

TR it w1 g st &

A. SITAT T § oo o s o foe
B. AIRIEATCHS: GHEITS! T Uk % AT
C. T Wil el YaH A o g
D. B forshrer 3t g o forg

A TR (5 T TSAT QM) o FRT Y
2021-22 o SIS ST o HTER "Rrar"
fopraT wfcreTa =2 feparm T2

3.1 wfcera
6.97 T
9.7 fceTa
36.6 JfeTd

oo w>

TTHIOT R § STt Sfte e fermr A @
AT 82

TS

oI ST

I 9 TS

o w >

HLHT AT Siet
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43.

44,

45.

46.

Which was the first English newspaper 43.

in India?

A. The Calcutta Gazette
B. The Bengal Journal
C. The Bombay Herald
D. The Bengal Gazette

In soil Flora, Fauna, Microorganism, 44.

Temperature, Rainfall, Weathering etc.
determines-

A. Thickness of soil profile

B. Rate of humus production
C. Soil deposition
D

. Permeability of soil

When was the governor-general rule 45.

removed from India?
A. 9" August 1948
B. 26™ January 1950
C. 2" October 1950
D. 15" August 1947

A provision for education for the 46.

children with disabilities can be done
through-

A. Inclusive Education
B. Mainstreaming

C. Integration
D

. None of these

T T TEeTT SIS STEER hiF 91 912
TRl TSI

ENINISE]

. STl e

© o w >

Forgt 7 St ST, STofiSiTd, gemsha,

TaT Ufes fdehT i AieTg
& fomior o6t &t

CHEEIRER]

o o w >

et ol ITOTRIdT

TRA H TSI ST T el SHTH GT?
. 9 I 1948

A

B. 26SHa{l 1950
C. 2 3FH 1950
D

. 15 3EA 1947

ferehetiT =it o foTu f3er o Traa= &
HTeIs § forRaT ST HehdT 8-
. gt f3re

HEIYI

D

TehHTHIOT
. T A S T

o0 ®w »
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47.  Think on following statements- 47. = T e il
1) Puducherry is made of four different 1) gt =R qereh fSredt o foretert s €
district 2) T T e A 39T
2) Itisa Union Territory 3) W S AR O R ¥
3) Mabhe is situated on Arabian Sea ) A, e e s
4) Puducherry, Yanam, Karaikal %ﬁ % ’
situated on bay of Bengal
5) It was part of French Colony 5) 3 BT o ST 3T hLd o
A. Statements 1, 4 are correct A. FUT 1 34 TH
B. Only statement 2 is correct B. adl YT 2 Tl
C. Statements 2 & 4 are correct C. FUT2 349y
D. All statements are correct D. off %y g&r
48. \Who was the first one, who introduced 48. g Yga =afeh i o g = vree ot
the word Yoga in Classical way? sTER 6 § T fRae
A. Kapil Manu A. FHuaaq
B. Maharishi Patanjali B. uef¥ udsifer
C. Sampurnanand C. gqﬁ'ha
D. Arastu D. 1&g
49.  Which is the most important component 49. gl o HEY "W fehTE geehi" HIOH
for Health to measure "Human foTu wamees % T Ted Hecayut ges T
Development Index™ among nations? 59 ®
A. LifeE t t birth !
|fe Xpec alncy at bir (y:ars) d N — :mgr(zm‘fr)
B. Infant Mortality Rate per thousan
: R B. 1 ¥eg st ufd &=
C. Child Mortality Rate per thousand .
. C. F=di sl g & Ui &R
D. Neo-Natal Mortality Rate per <
thousand D. oS RI] ol 9o & Wi &9
50.  When was the Gandhi Irwin Pact 50. et gefort wweitar el g2
' ?
signed- A 1931
A. 1931
B. 1930 B. 1930
C. 1933 C. 1933
D. 1947 D. 1947
SPACE FOR ROUGH WORK / T @t % forar e
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PART - 111

Educational Interest foreror srfere=ht
51.  Which of the following is an example of 51. fwfeifiad o & shiH STt Toet S1vTe
effective school practice? T JaTeAT 87
A. Constant evaluation A. FRa g
B. Corporal punishment B. yMife s
C. Individualised learning C. =afpra e
D. Competitive classroom D. ufaeqeff e
52.  Student centric classroom is meant for- SYANR T o) g— o fer &
A. Addressing individual differences A. afmTa fafi=Tar T gafea s
B. Reducing teacher oriented lectures B. f3Tereh hfesd AT sl 9
C. Recalling the previous knowledge C. 9 I T e A
D. Engaging the entire class D. qﬁ$&ﬂ5€fmﬁﬁ€5ﬁ
53. Attitude of the teacher that affects 53.  f3reqor ot TeTfere R aTedt faTeTen s
teaching pertains to --------- domain. HARERT coeeeeee o7 O et
A. affective domain A. ST I
B. cognitive domain B. YIcH &7
C. social domain C. 9T 9eT
D. psychomotor domain D. TN 98t
54. Communication with oneself is known 54. =% % G HIX ----- FHEATdT 2
8 A. TSTHS §aR
A. Organisational Communication '
B. Grapevine Communication B. ST HeR
C. Interpersonal Communication C. TREANE HR
D. Intrapersonal Communication D. iddafthes TaR
SPACE FOR ROUGH WORK / % & & {o13 STiTg
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55. Which of the following comprise 55. fferfaa o @ foremt fireror orer awnfed
teaching skill? 9
A. Blackboard writing A. IS G
B. Questioning B. Y&
C. Explaining C. AT RAT
D. All of the above D. 39k gt
56. A reflective teacher creates classroom SN 1 EIENIIG AR R Gk | b pe— fafa
situation for- BT GSiT LT 8
A. Listening the lecture A STETH
B. ;I'ezlzlhnegr notes from the lecture of the B, e 3 sarers & S 3
C. Maintaining classroom discipline C. & ITEA ST W&
D. Promoting interaction between D. foenfelt ua farerers o wer sia:fopam =t
students and the teacher T
57, eeeee- is an example of external factor of Y F— AT o STl S 1 Teh IaTeXT g
attention. A wfi
A. Memory
B. Forgetting .t
C. Competitive spirit C. sfcemet shr e
D. Interest D. &
58. Values are inherent in every human 58. Ho¥ Y AT | fAfed €, I8 ----mm- )
being is reflected in- qReAferd arar &)
A. Realism A. Fonefare
B. Pragmatism B. TSHaTE
C. Naturalism C. qa,"%a'rq'
D. Idealism D. 3fre3iare
SPACE FOR ROUGH WORK / % & & {o13 STiTg
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59.

60.

61.

62.

What is the most effective way to
reform the aggressive behavior of a
child?

A. He should be kept in isolation

B. Reasons for this behavior should be
investigated

C. He should be punished severely

D. He should be ignored

In communication, a major barrier to
reception of messages is-

A. audience attitude

B. audience knowledge
C. audience education
D.

audience income

"Psychology is the most basic science of
education”. Who gave this definition?

A. Davis
B. B. F. Skinner
C. Jean Piaget

D. None of the above

Which of the following is an example of
learning style?

A. Visual
B. Accrual
C. Factual
D

. Tactual

99.

60.

61.

62.

Sl o STSHH AAEN h! GUTRA Hl Godl
THTIITEAT TEehT T 22

A. W THTR H TEHAT =1

B. W% HaeR & e fesd ol shr s
AT =TT

C. 3 H3AT ¥ gfved foram ST =nfe

D. W e foham ST =fey

HIWOT T HaTT o TGV FAA H e SIS aren

------- H

A
B. ot . e

C. S fomst

D. 3T ¥ %15 &l

freferRaa & s a1 stferm Sieft s Serer
22

A. TIHE

B. @I

C. deaTeH®

D. THE
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63.

64.

65.

66.

The most effective means in educational 63.

instruction is-

A. Visible means

B. Audio means

C. Audio visual means
D

. Blackboard writing

Which one of the following is not a 64.

suitable formative assessment task?
A. Open ended questionnaire

B. Project

C. Observation

D

. Ranking the students

The nature-nurture debate refers to- 65.

A. genetics and environment

B. behaviour and environment
C. environment and biological
D

. environment and upbringing

According to the NCF 2005, learning is 66.

.......... and ------- in its character.

. active, social

A

B. passive, social
C. passive, simple
D

. active, simple

SNfereh TSR T Harg el Ao -
A T ETEA

B. T TTee

C. ¥o3-g |Ied

D. I TG

A. SRR SR ATareR
B. @R IR ardmereT
C. JTmER 3R Sifaeh
D. STITER0T I Te-qrsor

THHITE 2005 % STTEW, HEH 1 @Eq
------ [S[O) g—
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67.

68.

69.

70.

The in-service teacher training can be 67.

made more effective by-

A. using training package which is well
prepared in advance

B. making it a residential program
C. using cooperative approach

D. practising training follow up
procedures

If a teacher has to establish credibility in 68.

evaluating answer scripts, he must be-
A. Lenient

B. Strict
C. Objective
D

. Prompt

One of the following is the biggest 69.

problem for the school-

A. Lack of finance

B. Lack of good infrastructure
C. Lack of good teachers
D

. Persistent lack of students

Which of the following is not a 70.

characteristic of a good achievement
test?

A. Reliability
B. Objectivity
C. Ambiguity
D. Validity

BaTeRTe I T3TeTor SRt 31ferss TuTelt s S

HhelT -

A. U8 H qIR TR T gfSreqor Yehst bt
SR

B. 3U U SATATET HRIHH SHMT

C. Tt gfEehtor T FoRT ST

D. SfRreror Stgert Sfshamatl st vam|

aife; foreft fRrersh st ST qfedentatl
qedteR | foraaeiiadT €enfud et &, ar se

frefafad & @ we former & foe ved st
T -

. for =t ot

. 3= RS g T ST

. 3T Tarerent &1 oTvTE

. STAT T AR 3T

O 0O w >

frefaRad @ @ =i ot s a9 Suafsy
qveor <l fergrerar =2 9

A. fagadimar

B. aqfEar

C. Afferaar
D. Jear

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

202062-HKJ-ENT-YKIXZ-M 23

Set- A



71. The best remedy of the students problem
related with learning is-

A
B.
C.
D.

Suggestion for hard work
Supervised study in library
Suggestion for private tuition

Diagnostic teaching

72.  Equal educational opportunity means-

A

equal opportunities to have the type
of education which one is suited for

equality of educational standards for
each child

equal opportunity for all children to
have access to education

All of the above

73.  Psychology was initially a part of which
of the following?

A

Philosophy

B. Logic
C.
D. Sociology

Physics

74.  The National Curriculum Framework
2005 derives its understanding from-

A

humanism

B. behaviorism
C.
D. cognitive theories

constructivism

71.

72.

73.

74.

BT Sl Hig U e TS 1 39 ST
-------- H

%
%
%

HH Tk TaE 1 Y B-

A. T3re =61 98 yer & foTT wam ot
forereh fefu =hrg ST @

B. I o o (7T X187k HTeh shl
RIS

C. aft sr=ail sl f318m 9TH i o6 '
FHIET

D. 39Uh auft

oo SR | e o & foperhT o7 oo
RN ERIC]

. T I

+ifcieh I

YHTS M=

©c o w >
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75.

76.

77.

78.

Which of the following is not 75.

instructional material?
A. Over Head Projector
B. Audio Cassette

C. Printed Material
D

. Transparency

Dropouts are likely to be- 76.

A. unemployed

B. vulnerable to the requirement of
public assistance

C. engaged in anti social activities

D. All of the above

What is the most important role of a 7.

teacher in a digital classroom?

A. Operating technology in distance
learning mode

B. Being a facilitator
C. Monitoring the class

D. Promoting critical thinking

The professional requirements of a 78.

teacher as explained in the UNESCO
publication is/are-

A. Innovativeness in teaching strategies

B. Mastery over the subject and
competency for teaching

C. Justice to the profession
D. All of the above

frrferfaa & & st | sTaeTTeRes |
A. 3T TE Tisiael

. Sifed Fae

. s wef

O 0 W

B. WTSI-eh HETAT ohl STTITIHdT o Ufd
R ECE ]

C. STEHIISIeR TR | oF%d g
D. ST Tt

fSforeet sheft W RRefeh sht werdl HEcaqul
“IfireRT T 87

A. T et yorreft 7 Srenfiveht
L EINE]

B. gfordT Y& L drelt
C. e ol ferHt Rt

D. ATAr=HTH fo=d9 sl sIgrar a1

UNESCO o3 ¥ feu 1Tu = &
HTER, Rrereh ht T ATTRIHATE
------- g/3-

A, RT&0T FETEATSHT H TR
B. forrr  gerar ud fRveror & wagwar
C. IR % Y =
D. 39Uk &+t
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79.  Students of disadvantaged groups 79.

Sif<rd T o BT ! FHI BT 6 €1

should be taught along with the normal UG STHT ITRU| 8T d1cdd &-
students. It implies- '
. . A. gaasft f3rem
A. Inclusive education
B. Special education B. fafere feva
C. Integrated education C. wshipd fRramm
D. Exclusive education D. Ushifcer f3rea
80. Which of the following belongs to a 80. fymferfad & @ sniar veifta gt
projected aid? ST STTAT 87
A. Blackboard A. THIE
B. Diorama B. fomaet
C. Epidiascope C. wfrmastss eerea
D. Globe D. e
SPACE FOR ROUGH WORK / T% & o fo1a sirg
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81.

82.

83.

84.

General Hindi

'sha %1 BN EHT e T 319 8-

A. S TTE T
EROCERIE
gufx faer

T g S

O 0 W

FUSI 0 &-
TR
ERC
3IMF
3T 37T 3

c o w >

frafafga 3 = a1 vee 2aer 22

A. 3Hfe

B. 3led

C. s

PART - IV

85.

86.

87.

88.

T =

i & s P &

o o w >

b

ST

eIl oh X T FHAA W - TR o g
Teh T15G &-

A

B
C.
D. 3tfereaent

E1cl|

SUcIhT
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89. e SivTet foreh i o foTq HaTifersh Hecaqul 90. fmfafiaad & & -1 T Yea 2

fore g A. T-Uh Foh gff R
A gaoE

B. TR T Tt Ush-Ush Fleh
B. T a0
C. WER Fratema C. @t Th-Toh shich B T
D. -1 g8 Wl 1 ST T T S TehoT D. @i ¥ Y U-Th Ftoh
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PART -V

General English | ST
91. What type of sentence is the following 93.  Choose one word for the following
sentence? sentence:-

Shopping online, Craig bought gifts for

everyone in his family. One who loves mankind is called-
A. Simple sentence A. Optimist
B. Compound sentence B. Philanthropist
C. Complex sentence C. Optometrist
D. Compound-Complex sentence D. Truant
92.  Choose the correct option from given:- 94.  Choose one of best expresses the given

sentence in indirect/direct speech-
Word by word reading is-

He said to the interviewer, "Could you

A. the practice of reading in an please repeat the question?”

Impersonal manner. A. He requested the interviewer if he

could please repeat the question

B. critical analysis of what one reads. ) )
B. He requested the interviewer to

. . please repeat the question
C. slow and unenthusiastic reading.

C. He requested the interviewer to

D. reading slowly when one is repeat the question

unfamiliar with the language. D. He requested the interviewer if he

could repeat the question
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95.

96.

97.

Choose the correctly punctuated
sentence.

A. Rohan ! you need to perform well.
B. Rohan, you need to perform well.
C. Rohan . you need to perform well.

D. Rohan ; you need to perform well.

Choose the correct preposition from the
given:-

I went ---------- my previous notes
before starting to write out the rough
draft.

A. before
B. over
C. into
D. across

Choose the correct option from the
given:-

The competency that involves the ability
to hear and utilize the sounds in spoken
words while reading, is called-

A. fluency

B. comprehension

C. phonemic awareness
D

. phonics

98.

99.

100.

Choose the correct model verb from the
given:-

Before this year, | ------- move out of
my parents' house because | did not
have a job.

A. may not
B. cannot
C. should not
D

. could not

Change the voice of the following
sentence:-

They drew a circle in the morning.

A. A circle was being drawn by them
in the morning

B. A circle was drawn by them in the
morning

C. Inthe morning a circle have been
drawn by them

D. Acircle has been drawing since
morning

Choose the correct antonym of the given
word:-

GENUINE
A. spurious
B. plutonic
C. innocent
D

. real
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SET-A

3T ifehd T T 99T 28 rfereRad 3 : 100
Time for making answers : 2 Hours Maximum Marks : 100
qNe:

1. 38 IA YRAHT § 100 T2 § — ek T2 1 37k T § | Tt T vty rframi )

2. Tl % ST & T8 OMR IW-91E (Answer Sheet) X 3ifera R |

3. SHUTTCHe, Hodieh Tl ohaT SITSRTT |

4. Toru off TWE o FTHIS AT AN O TS WIATSEA Wi T SART A1 8 |

5.  OMR IT-I1C (Answer Sheet) ShT THNT i THT T g JETAUTHT T Sd FST0H I8 e I a1
Iaw Wg a7 faerae o1fe ug S a1 o T B 9 |

Note :

1. This question booklet contains 100 questions each question carries 1 mark. All questions are

compulsory.
2. Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds or wrinkles.
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